thep

Lo |4 e e ZE| BB | EEQ | EEQ | BE® |F—L%A
101 E% B ZRPRZHI| 3 500m [ 1000m #li&Progress
102(#8l EA P 3 1000m | 1500m #l & Progress
10373 &3 [AIREE 2 500m | 1000m #llE&Progress
104| Z#R BARK [EFFERA 2 | 500m | 1000m KA hEEs
10525 48 ERER 2 1000m | 1500m FHRFFER
106|'RE #1 |[8BE 2 | 500m | 1000m BRE-ADISIRT—RER
201|104 ¥oZ  |#IERdE 3 1000m | 1500m ]|z A= 53
202|#%  BEF  |BIRREE 2 | 500m | 1000m IR = EPER
203|5H EBF |BR 2 | 500m | 1000m HRFE
204|SH BF |B® 1 | 500m [ 1000m MR
206| =l BE |EPEN 2 1000m [ 1500m EPRRNPER
207(HAR #eFn  [AEFRALA 3 | 500m | 1000m F AL A Fh AR

INEHE

Lo |4 FR A 2E| EEQO | EEQ@ | BEQ | HE®@ |F—L%A JL—
01|BFE BE [EHEZH 6 500m [1000m |ICE SPEED A
02| K& EIE |EHEN 4 500m [1000m |ICE SPEED A
303|ER X |EHERN 4 500m [1000m [ICE SPEED B
304|X)Il BEfHl [EPENRN 3 300m [500m ICE SPEED B
05|%FE W= [EEAH 1 300m |[500m ICE SPEED B
306|15M  # Bl EE 6 500m [|1000m |HLIELRE—KRT—DER |B
307|EFEBICEH |JIREE 5 500m |1000m |HLIEILRE—KRS—DER |B
08| ILF EHE [IIREE 4 500m [1000m |HLIELRE—KRT—DER |B
309|11BME & |BIREE 3 500m [|1000m |HLIEILRE—KRS—DER |B
310|REA EE |TIR=S 5 500m |1000m [EBBEIABLIRT—NDER |D
311|1R £l TIRS 5 500m |1000m (EBBEABLIRT—IVDER |A
3N2|MTF WE |BE 5 500m |1000m [BBEIABLIRT—DER |A
1B|&I BEN  |EBE 4 500m |1000m [EBBEABLIRT—IDER |D
314|#@E —x |BE 3 500m |1000m (BBEABLIRT—rVER |D
BIS|IERKRARN |EBE 2 300m |500m BRE-ABLOIAT—NIER (B
16| K&k |EBRE 2 300m |500m BEI-ABLOIRT—MER D
N7y E=EH  |EBE 11100m |300m BREALEOIRT—NDER
IB|EFRENR |EXEIA 2 300m |500m BRERE—FR5—rDEM
S EARER |BRHEINA 4 500m |1000m [#ERRE—RFRT—rDEH
320|BH EM EPA AW 6 500m [1000m [EHRRE—FRI—rDEH
21| RE |ME 6 500m |1000m |KSSC A
322|1kmk RIE | S5 5 500m [1000m |KSSC A
323|tkfE E=th |BA 4 500m |1000m |KSSC A
324|ILE SEE 4 500m [1000m |KSSC A
32B|=RAKRE |FE 3 300m [500m KSSC B
26|AE—2B |BE 3 500m |1000m |KSSC B
27|EH £t |FE 3 300m 1000m [KSSC B
328|rh EBF | BEX 3 300m KSSC
329|ILH HE |BEA 2 300m KSSC
[EEAR &L |fF5 11100m KSSC
331tk B BRI 1 300m |500m KSSC
401| K+t A |EHESZH 5 500m [1000m |ICE SPEED B
402|E#E HBixE |EF 4 500m |1000m [ICE SPEED B
403|%FE —1E  [EPEAH 3 500m [1000m [ICE SPEED A
404| K%t 2B |EhEZH 2 300m |500m ICE SPEED A
405(ILF €% |HIREE 6 500m [1000m |HLIEISRAE—KRRS—rDER |A
406 (XM EHETE  |HIREE 6 500m |1000m |HLIEISRE—KR—FDER (A
407|713 WE  |HIREE 4 500m |[1000m |HLIELRE—KR7—rDER (A
408|2it EF  |HIREE 3 500m |1000m |HLIEZLRAE—KRS—FDER (A
409|85K EARG  |BIERSEFS 2 300m |500m HLIELRE—RRr—rDER  |fER




410|H E3E  |REH 3 500m |1000m |FIEHMEFHFLEEFR

M1BEE DE  |FREH 5 500m |1000m |FIEHMEHEHEFKR

42\MH EE  |DIRFE 6 500m |1000m |#l#&Progress

MI|fERARKRIE |[BBFFE 6 500m [1000m |EBEE-ALISRAT—NDER |A
M40 WE |(BE 5 500m |1000m [(BBEABLIRT—NDER B
A5|HEE BKZE |EE 5 500m (1000m (EBEE-ABLIRT—IVER  |A
46|Z8 Kk |BE 5 500m |1000m [BBEIABLIRT—IDER |[C
AL BE 4 500m [1000m |EEE-ALISAT—DER |C
MB|IRE i TiRE 3 500m |1000m [BBEIABLIRT—IDER |[C
Mo|HEELDY (ERE 3 500m [1000m |BBEE-ABLISRAY—NDEH (B
420|488 EEF |BE 3 500m [1000m |BBE-ABLOIRT—DER |C
421|128 KE |BE 3 500m |1000m (BBE-ABLIRT—rVER |B
422|1% 8k = |BE 2(100m [300m BREE-ADISIRT—FIER

423 EARBE |BREINA 6 500m [1000m |BHERE—FRT—rDEH
424(ILE =M |SEE 2 300m |500m KSSC

4250 XfF | BER 6 500m KSSC
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501|E48 OO |BERREER| T4EDIVA

502|=:&2A A |MInEssHE| TsED3VB

503|{kRE HEE |[ETRRECETE| T EDIVUB




